Addition

Name:

Warm Up

1) 3+10= 4) 1+10=
2) 4+10-= 5 6+10=
3) 2+I0-= 6) 7+10-=

7) 8+10=
8) 9+I0-=

9) 5+I0 =

1) Thereare2eqgsinanegq carton. Ifladd 10
eggs, how many eqggs will l have?

6) Aimee collected 10 flowers. She already had 5
flowers. How many flowers has Aimee got
altogether?

2) Athena has 5 apples. She picks another 10
apples. How many apples does Athena now
have?

7) Erika ate 3 pieces of light chocolate and 10
pieces of dark chocolate. How many pieces of
chocolate did Erika eat alfogether?

3) Ahmed has $4. His mother gives him $10 more
for washing the car. How much has Ahmed got
now?

8) Jess sold 10 white T-shirts and 7 blue T-shirts.
How many T-shirts did she sell altogether?

4) Thereare 10 large pencils and 4 small pencils in
a box. How many pencils in the box altogether?

9) Elma planted 8 trees in the morning and 10in
the afternoon. How many trees did Elma plant
altogether?

5) Blanche has 9 pieces of string in one hand and
10in the other hand. How many pieces of string is
Blanche holding?

10)  Alfredo bought 3 oranges for $3 and 10
oranges more for $10. How much diid Alfredo
spend altogether?
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